

For questions 1-12, read the text below and think of the word that best fits each gap. Use only one word in each gap. There is an example at the beginning (0).





Thieves in the safari park

Visitors to Hampton safari park (0) ...HAVE… been warned not to enter the monkey enclosure
(13) ......... they have roof cases on their cars as the monkeys (14)	likely to open them and steal the contents. The animals appear to have worked out a way (15) ......... unlocking the cases  by jumping on them; they even seem to (16) ......... working together in groups to do it.

One family said they knew they couldn’t get out of the car and so could only watch in horror. (17) ......... the monkeys ran (18) ......... with all their holiday clothes and disappeared up trees with everything from bikinis to shoes. One young monkey (19) ......... seen holding onto a child’s teddy bear.

Keepers at the safari park said the monkeys had broken into (20) ......... than ten roof cases (21) ......... the beginning of the summer holidays. (22) ......... a result they have now set up an alternative route (23) ......... cars with luggage on the roof (24) ......... they can avoid the thieving monkeys.






















KEY

1) if
2) are
3) of
4) be
5) as/while
6) away/off
7) was
8) more
9) since
10) As
11) for
12) so
